QD HATSUTA JS—YZ R

HDS1

20215F58_A



HDS1



A TEUIREIAR e P.1~4
B BB e P5~6
G SBIFEREMR 1 oo P.7~10
D SHEERER 2 oo P.11~14
e 0y [ - P.15~18
FavR7—E& ~P.19~22
G TR SR P.23~94
H ERBRIR o P.25~28
| G X o P.29~39
J AR JUBBRR - P.33~36
K S0 BB o P.37~40
L R F BT s P41~44
M BRI e P.45~46
NI 0 T P.47~48

X BAREXOMREBTREES BRI —F-BRE-BE-BAEESEHR L TITEXXENET,
X BAURFICIYFELCHABRERICBIBEBENTEVET, FHITERIESL,

HDS1



@D HATSUTA

A. 7OV FER

14

15

2021.05_A



@D HATSUTA

HDS1
RHEES a—F RES M= R &%
A- 1 K22300102E — 1
A- 1A | K09127000 M12x 70 RJLk 2
A- 1B | K09120200 M12 Dy — 2
A-1C | K09120300 M12 R )yv— 2
A- 1D | K09120100 M12 7k 2
A-2
A-3 K22315100 t—DF4—oF+—D—b () 1
A-4 K22315000 t—DT4—F+—D—k (R) 1
A-5 KNS023000 CR¥ET—TT 2% 30 1
A-6 K20251500 GJYR=ZwFIL1/8 E 1
A-7 K31508100 BOTEF7—LI¥ITREHARILE 1
A-8 K09100300 M10 R 5 Iwiv— 1
A-9 K20603010 Bl I A — ISR T v— 1
A- 10 | KOB3512DU DUZwS a K5B3512 2
A- 11 | K02507000 ASARRT 4 51107 1
A- 12 | K31501308A RIER 74— (A) 1
A- 13 | K03030400 ¥oJow% UCFL204 2
A- 13A| K09102000 M10x 20 KLk 2
A- 13B| K09100300 M10 R T D 9 v— 6
A- 13C| K09100203 M10 T v— D30X3 2
A- 13D| K09100200 M10 Ty v — 4
A- 13E| K09100104 M10 EF vk 4
A- 14 | K31580200 NURIL 1
A- 15 | K15190000A AE—RA—%— 1 CC-RD200 1% ~HDS20035
" K15190070 AE—FA—5— 1 HA548B % HDS20036~
A- 16 | K22312300A REFTRAE 1
A- 16A| K09083500 M8 x 35 R )L+ 1
A- 16B| K09080200 M8 Ty — 1
A- 16C| K09080103 M8 UFwhk 1
A- 17 | K14770100 By 1 PET-2000 H43& - ~HDS19060
7 K40560800A By 1 PET-304 142 - HDS20001 ~
A- 17A| K09062000 M6 x 20 3 )Lk 2
A- 17B| K09060300 M6 RV Iy v— 2
A- 17C| K09060200 M6 Ty — 4
A- 17D| K09060100 M6 Fvb 2
A- 18 | K21807400 NURILARRA T LIRS Z 1
A- 18A| K09061000 M6 X 10 7R )L+ 2
A- 18B| K09060300 M6 R Iy — 2
A- 18C| K09060200 M6 Ty — 2
A-19 | K21807301 NRLARZR T LR 1
A- 20
A- 21 | K22300801B NURILIRR R 1
A- 21A| K09083000 M8 x 30 R )L+ 4
A- 21B| K09080300 M8 R )y v — 6
A- 21C| K09080201 M8 Ty v— $22x23 4
A- 21D| K09080100 M8 ;i 2
A- 21E| K09080200 M8 Ty — 2
A-22 | K21809200 NURILZRITEE 1
A- 22A| K09081600 M8 X 16 )L+ 2
A- 22B| K09080300 M8 R Iy v — 2
A- 22C| K09080201 M8 Ty v— $22x23 2
A- 23 | K09083240 UL M8-32A 1
A- 23A| K09080100 M8 Fwh 2
A- 23B| K09080300 M8 R )y v — 2
A- 23C| K09080201 M8 T v— $22x23 2
2 2021.05_A




@D HATSUTA

A. 7OV FER

14

15

2021.05_A



@) HATSUTA

HDS1
REES| a—F RES M= R &%
A- 24 | K31515103A NURILRRANE 1
A- 24A| K09061200 M6 X 12 R )L+ 6
A- 24B| K09060300 M6 RV Iy v — 6
A- 24C| K09060200 M6 Ty — 6
A- 25
A- 26 | K31585001 ATTFVTXTRYIR 1
A- 26A| K09104000 M10 x 40 7KLk 2
A- 26B| K09100300 M10 R G Iwiv— 2
A- 26C| K09100202 M10 Jwiv— ¢$25x2.3 4
A- 26D| K09100100 M10 Sk 2
A- 26E | K09120100 M12 bk 1
A- 26F | K09120300 M12 R 5)yv— 1
A- 26G| K09120200 M12 Dy — 1
A- 27 | K31585021 Evk<o7—L 1
A- 28 | KO9SE4141L AA4OyhI R SE-4141 L 1
A-29 | K09140240 M4 BE TV v— 2
A- 30 | K31508503 NP P 1
A- 30A| K09140111 M14 Sk P1.5 (%) 1
A- 30B| K09140110 M14 Sk P15 (F) 1
A- 31 | KO9SE4141R 240y, R SE-4141 R 1
A- 32 | K14704400 AT 7A—2 (B) 1
A- 33 | K31501200 AR IA—2 TL—hk 2
A- 33A| K09100100 M10 Fwk 2
A- 33B| K09100300 M10 R GIwiv— 2
A- 33C| K09100200 M10 Ty v — 2
A- 34 | K14704203A AE—Ft Y —HIT 1+ TR 1 2 : HDS20036~
A- 34A| K09061030 M6 x10 52 TR)ILE 2
A- 34B
A- 34C
A- 35 | K31501006 Ja kv Ik 1
A- 35A| K09160110 M16 Fvk P1.5 2
A- 35B| K09160300 M16 R TIyi v — 2
A- 35C| K09160200 M16 Ty v— 2
A- 36 | K31501507 JOVkILAVEAY (ER) 2
A- 37 | K31501508 JAVkOLAUAALN (Fh) 1
A- 38 | K03040700 Eo2nw% UCFC 207 6
A- 38A| K09124000 M12 x 40 R)Lk 23
A- 38B| K09120300 M12 R G)yv— 24
A- 38C| K14704500 st H—EfTRILE 1 CC-RD200 {4 . ~HDS20035
" K14704501 ElEst o —EfRILE 1 HA548B H%& . HDS20036~
A-39 | K31527800 | AV A ITRAR—H—L L 1mm 2 Tmm
A-40 | K31527820 | ZAVKI A TRAR—H— L 2mm 2 2mm
A- 41 | K31501109 20 kv TR RR—H— (41) 2 18mm
A- 42 | K31501110 2Oy TR RAR—H— (th) 2 15mm
A- 43
A- 44

2021.05_A




@D HATSUTA

HDST B. &R#mpa %

5 2021.05_A



@) HATSUTA

HDS1
RHEES a—F RES HE R &%
B- 1 K22300102E — 1
B- 2 K21808100 E—R—ZITHR 1
B- 2A | K09102500 M10x 25 R)Lk 2
B- 2B | K09100300 M10 R 5Iwiv— 2
B- 2C | K09100200 M10 Ty — 2
B- 3 K14706001 r—RETEE 1
B- 3A | K09081600 M8 X 16 7N JL 2
B- 3B | K09080200 M8 Dy — 2
B- 4 K22381000 BAEBESRTIL—F 1
B- 5 K31551501 AV Assy 2 20-12.00-10
B- 6 K31500403 #EmFEARA—IL ABEYE 2
B- 6A | K09102000 M10x 20 RJLk 16
B- 6B | K09100300 M10 R T Dyd v— 16
B- 6C | K09100100 M10 vk 16
B-7 K31551701 #EAF1—D 2
B- 8 K31551801 BEwAAY 2 20-12.00-10
B- 9 K22208500 KSLTL—Fk 2
B- 9A | K09061200 M6 X 12 R )L+ 8 RS LTL—REHARILE
B- 9B | K09060300 M6 RV T Iy v— 8
B- 10 | K22206902 EITE—H—T—/\—EF vt 2
B- 10A| K09051541 M5 X 15 REIFUTERILE 2 ETE—H—T—/ \—8F Y MEALLORILE
B- 11 | K22270000 RSLTL—F Assy 2
B- 12 | K22250100 FETE—A 2
B- 12A| KU1220041 1/2 X UNF 2 REAJFUTRILE 8
B- 12B| K22250120 F— 2
B- 13 | K22270100 IJL—FK3 LA 2
B- 13A| K09123500A M12 % 35 7RJLk P1.5 12
B- 13B| K09120300 M12 T Iviv 12
B- 13C| K09120110 M12 FvkP1.5 12 AL F VR
B- 14 | K22200601 JL— Assy 2
B- 15 | K22270300 Foh—EY 2
B- 16 | K22270400 Sa—RT)Yg 4
B- 17 | K22270500 JL—F%F>a— 4
B- 18 | K22270600A AN 2
B- 18A| K09140100 M14 Fuk 2
B- 18B| K09140300 M14 R )yv— 2
B- 18C| K08502500 AFv T4 S-25 2
B- 19 | K22270700 Ny TL—hk 2
B- 20 | K22270800 L/\— 4
B- 20A| K09081600 M8 X 16 )L+ 2
B- 20B| K09080300 M8 RV Iyl v — 2
B- 20C| K09080100 M8 ;i 2
B- 21 | K22270900 Er 2
B- 21A| K08701000 EV>% E-10 4
6 2021.05_A




@D HATSUTA

HDS1 C. SHERR1

1

7 2021.05_A



@) HATSUTA

HDS1
RHEES a—F RES HE R &%
c-1 K07A404344 Jw a2 PTO6UNFO06 2 C-1AET
C- 1A | K084C9040 0')>%" AS568-904 2
C-2 K06163200 3/8x1/A BEER=—VTIL 1
Cc-3 K05840300 3/8 F—X (A) 1
C-4 K07122101 7R TR— PT3/8 xPF1/4 16# 1
C-5 | KH21106800 SHER—X PA01-04-680L C X C 1
C- 6 K07020100 FHETHR— 06-16# 1
c-7 K07030100 TETR— 09-16# 2
C-8 | KH21208500 | ;HIEHR—R PA01-06-850L CXC 1
C-9 | KO7A404308 Jw a2 PT13UNFO16 4 C-AST
C- 9A | K084C9100 0')>%" AS568-910 4
C- 10 | K07040100 TETR— 12-16# 4
C- 11 | KH27306000 HEHR—R PA21-08-600L C X C 2
C- 12 | KH27305000 SHER—X PA21-08-500L C X C 2
C- 13 | K22306502A EITHAHERESE 1
C- 13A| K09080100 M8 ;i 2
C- 13B| K09080300 M8 R Iyl v — 2
C- 13C| K09080200 M8 Ty — 2
C- 13D
C- 14 | K07040300 TETR— 12-20# 4
C- 15 | K22351000 Fw/N)LT HT-728-04 1
C- 16 | K22310600 RUYFEEEE 1
C- 16A| K09080100 M8 Fwi 2
C- 16B| K09080300 M8 R )y v — 2
C- 16C| K09080200 M8 s — 2
C- 16D| K22310620 RYFEEEE/N\vF 1 7%25%70
C- 17 | K30656400 A1 ILFrvT KRM-A4 1
C- 18 | K05870611 17 4y T+ 1
C- 19 | K22305701C SHEAAILED 1
C- 19A| K09102000 M10x 20 7RJLk 4
C- 19B| K09100300 M10 R T Dyd v— 4
C- 19C| K09100200 M10 Ty v— 4
C- 20
C- 21 | K31554900 AT — KL-80 1
C- 22 | K05900500 3/4 7345 (8) 1
C- 23 | K22305801 AL—FEBGI5D 1
C- 23A| K09081600 M8 X 16 R )L+ 6
C- 23B| K09080300 M8 R )y v — 6
C- 23C| K09080200 M8 s — 6
C- 24 | K08208000 0lJ>% G-80 1
C- 25 | K31566100 AL —F SFT-06 1
C- 26 | K05820300 3/8T /LA (H) 1
c- 27
C- 27A
C- 27B
C- 27C
C- 28 | K22311401 B FHN— 1
C- 28A| K09081600 M8x16 7RILk 2
C- 28B| K09080300 M8 RV T Iyl v — 2
C- 28C| K09080200 M8 Dy — 2
C-29 | K21455200 X% 1 S525-NF-12-3P
" K22351100 BRIF 1 SV10-34
C- 29A| K09064500 M6 X 45 )L+ 2
C- 29B| K09060200 M6 Ty — 4
C- 29C| K09060300 M6 R Iy v— 2
8 2021.05_A




@D HATSUTA

HDS1 C. SHERR1

1

9 2021.05_A



@D HATSUTA

HDST1
REES a—k RES = A& &%
C- 29D | K09080100 M8 Fwk 2
C- 30 | K30450400 AEL T 4)LA—Assy 1 49059-000
C- 31 | K30450401 AEV T4 NA—h—R)wD 1
C- 31A| K09102000 M10 X 20 R)Lk 2
C- 31B| K09100300 M10 R T Iyv— 2
C- 31C| K09100200 M10 Ty v— 2
C- 32 | K22312800A JHEFRE Assy 1
C- 32A| K09100100 M10 Fvk 3
C- 32B| K09100300 M10 R T Iwv— 3
C- 32C| K09100200 M10 T v— 3
C- 33 | K22351200 HEAMILYG—5— 1 HYDAC OK-ELD
" K22351220 HEAANI—F—DT7E—F—
C- 33A| K09061800 M6 X 18 7RJL K 4
C- 33B| K09060202 M6 Ty r— 16X2.3 8
C- 33C| K09060300 M6 R Iy — 4
C- 33D | K09060100 M6 Fwh 4
C- 34 | K22250200 EXr R T 1 PV16AR-A45B
C- 34 | K22250201 EXLRT 1 DDC 24 M2 HDS21011~
C- 34A| K09144000 M14 x 40 R)Lk 2
C- 34B| K09140300 M14 R T IySv— 2
C- 34C| K09140200 M14 Tysv— 2
C- 35 | K08208500 0')>% G-85 1
C- 36 | K22351300 K22351301 1 YP15A7A
" K22351301 HEXVRUT 1 JP20
C- 36A | K09104043A M10 x 40 /MBI L P1.25 2
" K09103043 M10 x 30 /MR 7KL 2 DDC 24 % - HDS21011~
C- 36B| K09100300 M10 R T Iy v— 2
C- 36C| K09100200 M10 Ty v— 2
C- 37
C- 37A
C- 37B
C- 37C
C- 37D
C- 38 | K22200100 SHERY THRT 7 —R 1
C- 38A| K14708720 SHERY T —REFARILE 4 | 3/8-16UNC 1 1/4
C- 38B| K09100300 M10 R T Iy v— 4
C- 38C| K09100200 M10 Ty v— 4
C- 39 | K21809700B IO DAY T Assy 1
C- 39A| K09061841 M6 X 18 REIUTERILE 11T 1
C- 39B| K21801620 | T v Ibhy TG TLGER) | 1
C- 39C| K09081290 M8 X 12 RO+t yhk 2
C- 40 | K22202100 IO IMNAT— 1
C- 41 | K04062800 F—1/4%1/4%28 1
C- 42 | K31513401A IVOURLIINAT 1
C- 43 | K05820300 3/8 T)LHR(A) 1
C- 44 | K06100300 3/8EEUAEETSY 1

10

2021.05_A




@D HATSUTA

D. ihERI 2

11 2021.05_A



@D HATSUTA

HDST1
RHEES a—F RES HE R ik
D- 1 K22351400 AEF—E—45— 2 OMM20
1/
D-2 | KH21115000 | SHER—RX PA01-04-1500L CXC 1
D- 3 K07020300 T3 TA— 06-20# 1
D- 4 K22313000 AEF—FE—42—FLUR—+&£ 8 1 G1/88 x R1/4%
D- 4A | K22351420 R/ X\vFx> 1/8 1 OMM20F8
D-5 KO07A11249 w2 PTO9PFO09 4 MtEBO-RTE
D- 5A | K084B0300 RoTyh—)L 3/8 4
D- 6 K07030400 THTR— 09-22# 1
D- 7 | KH25205700 EHR—R PA14-06-570L C X C 1
D- 8 K06010300 /8 EE=VTIL 2
D- 9 K06070300 /8 mEV YR 2
D- 10 | K07030300 T7H TR— 09-20# 3
D- 11 | KH25204500 SEAR—R PA14-06-450L C X C 1
D- 12 | KH22206700 SHER—X PA03-06-670L C X C 1
D- 13 | K22351000 AOYMILFIVIH 1 HT-728-04
D- 14 | K07040300 THETR— 12-204 2
D- 15 | KH22307500 s ER—R PA03-08-750L C X C 1
D- 16 | KH25307500 SHER—X PA14-08-750L C X C 1
D- 17 | KH22303300 ;B ER—R PA03-08-330L C X C 1
D- 18 | K07122303 T TH— PT3/8 XxPF1/2 20# 2
D- 19 | K07A404366 745 72— PTO9UNFO09 3 D-19AS L
D- 19A| K08101400 0% P-14 3
D- 20 | K07030300 T TR — 09-20# 1
D- 21 | KH25303700 SHER—X PA14-08-370L C X C 1
D- 22 | KO7A112412 Jwia PT13PFO13 2 MEO-RTE
D- 22A| K084B0400 RoTYRL—IL 1/2 2
D- 23 | K07040300 TR TR— 12-204 1
D- 24 | KO07041300 A g 75 TH8— 12-204 1
D- 25 | KH21305700 HEHR—X PA01-08-570L C X C 1
D- 26 | KH21306600 SHER—X PA01-08-660L C X C 2
D- 27 | K07040300 TR TR— 12-204 1
D- 28 | K07040100 TETR— 12-16# 3
D- 29 | K31751400 ASAFTvoNILT 1 | HTIN T04-05 0.5MPa
D- 30 | K05810400 1/2 Zw7I)L(A) 2
D- 31 | K05820400 1/2 T)LAR(B) 1
D- 32 | K06040400 1/2 8EF—X 2
D- 33 | K07040300 TR THR— 12-204 1
D- 34 | K05870400 1/2 V4 9A) 1
D- 35 | K05810400 1/2 —y7IL(B) 2
D- 36 | K05840400 1/2 F—X(H) 1
D- 37 | K07040100 TETR— 12-16# 1
D- 38 | K07132201 T TH— PT1/2xPF3/8 16# 1
D- 39 | K06040400 1/2 GEF—X 2
D- 40 | K07040400 TETR— 12-224 3
D- 41 | K07040300 TR TR— 12-204 1
D- 42 | KH27310500 | ;HE7R—R PA21-08-1050L C X C 1
D- 43 | KH27309500 HEAR—R PA21-08-950L C X C 1
D- 44 | K06020400 1/2 &EITILHR 2
D- 45 | K07040100 THETR— 12-16# 2
D- 46 | K07040300 THETR— 12-204 2
D- 47 | KO7AK40436 Jwi, a2 PT3/8 X UNFO9/16-18 1 D-47AE L
D- 47A| K084C9060 0'J> %" AS568-906 1
D- 47B| KO7AK40438 Jw, a2 PT1/2 X UNFO3/4-16 1 D-47CE&T
12 2021.05_A




@D HATSUTA

D. ihERI 2

13 2021.05_A



@D HATSUTA

HDST1
REES a—k LES = FRAE wE

D- 47C| K084C9080 O'J> % AS568-908 1
D- 48 |K07AK404308 Jwi a1 PT1/2 X UNFO7/8-14 2 D-48AE L
D- 48A| K084C9100 0'J> 4 AS568-910 2
D- 49 | K07122303 75 TR2— PT3/8 X PF1/2 20# 1
D- 50 | KO07132403 THETR— PT1/2xPF3/4 20# 1
D- 51 | KH22403500 SHEAR—X PA03-12-350L C X C 1
D- 52 | K07050100 THETR— 19-16# 1
D- 53 | K05820500 3/4 T)L7R(A) 1
D- 54 | K05820600 1 T)LARA) 1
D- 55 | KO07152404 THTR— PT1xPF3/4 22# 1
D- 56

" KH22404300 SHEAR—X PA03-12-430L C X C 1
D- 57 | K07050300 THETR— 19-20# 1
D- 58 | K05820500 3/4 T)L7K (A) 1
D- 59 | K05810500 3/4 Zy )L (B) 1
D- 60 | KO7TA112419 w2 PT19PFO19 1 D-60AZ T
D- 60A | K08102400 0 ¥4 P-24 1

1/
D- 61 | KO7TA112412 Jwi a2 PT13PFO13 1 D-61AZ T
D- 61A| K08101800 0% P-18 1

"
D- 62 | K06010400 1/2 SE=v7IL 1
D- 63 | K06040400 12 8FEF—X 1
D- 64 | K06164300 1/2x3/8 8EERE=—vTIL 1
D- 65 | K22351600A J)—2% 1 BRV15-140-25
D- 66 | K07030400 TETHR— 09-22# 1
D- 67 | KH22205500 SHEAR—X PA03-06-550L C X C 1 % HDS16031 ~
D- 68 | K07040300 TETHR— 12-20# 1
D- 69 | KH25304500 SHER—X PA14-08-450L C X C 1
D- 70 | K07142303 T3 TR— PT3/4xPF1/2 20# 2
D- 71
D- 72
D- 73 | K07030300 T3 THA— 09-20# 1
D- 74 | K05820300 3/8 )L (A) 1
D- 75 | K07122101 73 TR— PT3/8xPF1/4 16# 1
D- 76 | KH21305000 SHEAR—X PA01-08-500L C X C 1
D- 77 | KH21308700 SHEAR—X PA01-08-870L C X C 1

14

2021.05_A




@D HATSUTA

15 2021.05_A



@D HATSUTA

HDS1
RHEES a—F RES HE R ik
E- 1 K14754090A < —RAssy 1 H3& - HDS19041~
E- 1A | K09080100 M8 Fwh 4
E- 1B | K09080300 M8 RV Iyl v — 4
E- 1C | K09080200 M8 Iy — 4
E- 2 K22307100B EEE 1
E- 3 K31519100 ERE&IESHARILE 2
E- 3A | K09100103 M10 UFvbk 2
E- 3B
E- 4 K10416400 BRER D INR 2
E- 4A | K09080200 M8 Ty — 8
E- 4B
E- 4C | K09080100 M8 ;i 8
E-5
E- 6 K31557700 BUOINVRTTILE 2
E-7 | K21810303A T I5—EER (L) 1
E- 7A | K09061520 M6 x 15 7R )Lk SUS 6
E- 7B | K09060309 M6 R vl v— SUS 6
E- 7C | K090602091 M6 Twiv— ¢ 16x1 SUS 6
E- 8 K21810002 75— 1
E- 8A | K09080130 M8 IS5 F vk 4
E- 8B |24-041-49-S XITS5—HRTIb 2
E-9 K21810201 Y I7o—IEER(TF) 1
E- 9A
E- 10 | K21813600 IVOURMEER 2
E- 10A| K09105000 M10x50 )Lk 4
E- 10B| K09100300 M10 R Iwi v — 4
E- 10C| K09100200 M10 Ty — 4
E- 11 | EO005CH670 E0005CH680 1
" E0005CH680 ooy 1 |KOHLER CH-680S 17.2kW
E- 12 | N32024000 $56 DA —/\UK 2
E- 13 | K22353000 IT7O)—FFIhR—R 1 ¢ 50 x 520L
E- 14 | ET2504817S IT7 ') —FAssy 1 D-45&FY
E- 14A| K09082000 M8 x 20 AR JL 2
E- 14B| K09080300 M8 R )y v — 2
E- 14C| K09080200 M8 Ty — 2
E- 15
E- 16 | ET2508301S IT7I74INA— TR — 1
E- 17 | K22307200 FEFERTH/N— 1
E- 17A| K09061500 M6 x 15 7R JL 7
E- 17B| K09060300 M6 R Iy v — 7
E- 17C| K09060201 M6 D v— d16X 1 7
E- 18
E- 19
E- 20
E- 21
E- 22
E- 23 | K31557000 NyT—ITL— LKLYk 1
E- 24 | K14770000 INYT)— 1 65B-24R
E- 25 | K31556300 INYT Y —ET L 1
E- 26 |25-237-14-S R—RINUR 2
E- 27 |24-353-02-S Ja—I)Lik—R 1
E- 28 |24-050-13-S JaT)LIAILE— 1
E- 29 | N32002000 D12 AN —/\UK 2
E- 30 | K97061220 PRFR—X 1 | ¢6x @d12x1600L
E- 31 | K31558200 JaT )Ly Assy 1
16 2021.05_A




@D HATSUTA

17 2021.05_A



@ HATSUTA

HDST1
REES a—k RES = FRAE wE
E- 32 | KRB054025 =N 1 5 X 40 X 230L
E- 33 | K22307301 PEFERENIN— 1
E- 33A| K09061200 M6 X 12 )Lk 4
E- 33B| K09060300 M6 RV Iy v— 4
E- 33C| K09060200 M6 T r— 4
E- 34 | KRB054000 TLIR 5X40%XM 1 5 % 40 X 280
E- 35 | K31557500 BRE Aoy 1
E- 36 | K31557600 AR ANL—F 1
E- 37 | K31557400 RER D 1
E- 38
E- 39
E- 40
E- 41
E- 42 | N32000900 b9 VAN —I\UK 2
E- 43 | K31558000 2T —IR—R 1 6% P9
E- 44 | K22308600 IYI5—ER/INN(T 1
E- 44A| K09061200 M6 X 12 RJLk 2
E- 44B| K09060300 M6 RT) T Iy v— 2
E- 44C| K09060200 M6 T — 2
E- 45 | ET2532402S IF7H)—F—27—F 1
E- 46 | ET2508304S IF7I4INEA— AF— 1
E- 47 | ET2446207S INIVIBRARNIO T HB— 1
E- 48 | K22220100 —hhS5— 4
18 2021.05_A




@D HATSUTA

HDS1 F. 2 A~"7—H%

19 2021.05_A



@) HATSUTA

HDS1
RHEES a—F RES HE R ik
F-1 K22302201A aAURFT—A )Lk 1
F-2 K22353100 AVRTFI—Y 1 40# x 85L
F-3 K22353200 R TF—> 1 40# x 74L
F- 4 | K21300900A aURF7—ERER IO vk 1 40# x 20T ¢ 25
F- 4A | K09080890 M8 x 8 FRAt v 2
F-5 K03010500 Eo—2Jows UCP205 4
F- 5A | K09124000 M12 x 40 R)Lk 8
F- 5B | K09120300 M12 R 5)wiv— 8
F- 5C | K09120200 M12 Dy — 8
F- 6 | K22302501B aAR7OA—5—h5— 4
F- 6A | K09080890 M8 x 8 7RAt vk 4
F-7 K22302001 a7 O—5—(ERENE]) 1
F- 7A | K04023001 F— 7x7x30 K& 1
F-8 K22304401 aAVARF7HEIRTO4 Y N 1
F- 8A | K09102000 M10x 20 7KLk 2
F- 8B | K09100300 M10 R T Iy v— 2
F- 8C | K09100200 M10 Ty — 4
F- 8D | K09100100 M10 Sk 2
F- 8E | K08502000 AFv T4 S-20 1
F-9 K02104500 N71)4 6004LLB 2
F- 10 | K22309200 PR Tas vk 1 40#x 18T W
K22304491 | avAR7HERTASYREfTE Assy 1 F-8,8E,9,10
F- 11 | K22300601A aAVURT TR 1
F- 11A| K09123000 M12 x 30 RJLk 6
F- 11B| K09120300 M12 RV G Dy v — 6
F- 11C| K09120200 M12 Dy — 6
F-12 | K22307401 WmED LI 1
F- 12A| K09122500 M12 x 25 R)Lk 2
F- 12B| K09120300 M12 RV TDy v— 2
F- 12C| K09120200 M12 Dy — 2
F- 13 | K22002000 WmED LR 2 8 X 50 X 250
F- 13A| K09083500 M8 x 35 7xJL 6
F- 13B| K09080300 M8 RV Iyl v — 6
F- 13C| K09080200 M8 Ty — 12
F- 13D| K09080104 M8 Sk 6
F- 14 | K22002100 WhEDdLFSZIK 2
F- 15 | K22302101 aVARF7O—5—(REENE]) 1
F- 16 | K22310500 KL F AT IR 1
F- 16A| K09081600 M8 X 16 7N JL 2
F- 16B| K09080300 M8 R )y v — 2
F- 16C| K09080200 M8 s — 2
F-17 K22306602 FI—2Hh/N— 1 HEHDS13003~HDS13007
" K22306603 Fr—2HhN— 1 HZEHDS14001 ~
F- 17A| K09081600 M8 X 16 )L+ 4
F- 17B| K09080300 M8 R T Iyl v — 4
F- 17C| K09080201 M8 Ty — 22x23 1
F- 17D| K09080200 M8 Ty — 3
F- 18
F- 19
F- 20 | K22304501 AVRTFI—2Toa e 1
F- 20A| K09102000 M10x 20 7KLk 2
F- 20B| K09100300 M10 R GIwi v — 2
F- 20C| K09100200 M10 Ty v— 2
F- 20D| K08501200 AFv T4 S-12 1
F- 21 | K22353300 TARS—RTO4r vk 1
20 2021.05_A




@D HATSUTA

HDS1 F. a2 ~A7—H%

21 2021.05_A



@ HATSUTA

HDS1
RHEES a—F RES HE R ik
K22304591 TARS—R 7Oy E{TAssy 1 F-20,20D,21

F- 22 | K22300503A R/ S—ER {4 1
F- 22A| K09102000 M10x 20 RJLk 12
F- 22B| K09100300 M10 R G Iwiv— 12
F- 22C| K09100200 M10 Ty v — 12
F- 23 | K22301400 aARTRFGE|EEE 2
F- 23A| K09120100 M12 7k 4
F- 23B

F- 23C| K09120200 M12 Dy — 2

22 2021.05_A




@D HATSUTA

HDS1 G. Ry —B&k

23 2021.05_A



@D HATSUTA

HDS1
RHEES a—F RES HE R ik

G- 1 K22300405 Ryss— 1
G- 1A | K09120100 M12 Fwbk 6
G- 1B | K09120300 M12 RV G Iy v— 6
G- 1C | K09120200 M12 Jwip— 6
G- 2 K22304602 RwIS—HART L 2
G- 3 K22305002 RIS —FARTLBEZ R 2
G- 3A | K09080104 M8 ’Fwhk 8
G- 3B | K09080300 M8 RS TIwi v— 8
G- 3C | K09080200 M8 Tl iy— 8
G- 4 K22310100 Ry =20 T LAREEZ 1
G- 4A | K09080104 M8 R®F vk 3
G- 4B | K09080300 M8 R TIwi v— 3
G- 4C | K09080200 M8 Tl iy— 3
G-5 K22304802 HyR—2700 kT LR 1
G- 6 K22307503L TE&IF(E) 1

7 K22307503R B&LIFE) 1
G- 6A | K09081600 M8 X 16 )Lk 8
G- 6B | K09080300 M8 R TIwi v— 8
G- 6C | K09080200 M8 Tl iy— 8
G-7 K22307702L B&LFRT—(E) 1

" K22307702R BXIFRT—EH) 1
G- 7A | K09080100 M8 Fwbk 4
G- 7B | K09080300 M8 RTYLT Iy v— 4
G- 7C | K09080200 M8 Tyl r— 4
G- 8 K22314800 DAXY—HAK 1

24 2021.05_A




@D HATSUTA

HDS1 H. BEEIEE %

25 2021.05_A



@) HATSUTA

HDS1
RHEES a—F RES HE R ik
H- 1 K22311301 BRI Y TR N— 1
H- 1A | K09081600 M8 X 16 )L+ 3
H- 1B | K09080300 M8 RV Iyl v — 3
H- 1C | K09080200 M8 Ty — 3
H- 2 K22302401 R hE R T Oy 1
H- 2A | K09080890 M8 x 8 7RAtwhk 2
H- 3 K22353400 PEREL; 1 G3L-22-15-040
H- 3A | K09103500 M10 x 35 KLk 4
H- 3B | K09100200 M10 Ty v— 8
H- 3C | K09100300 M10 R G Iwiv— 4
H- 3D | K09100100 M10 vk 4
H- 3E | K0401B3501 X —6x6x35 KL 1
H- 3F | K04012701 F—5x5%x27 KL 1
H- 4 | K22308301A RN T 1 ALS-055-R-T25
H- 4A | K09062041 M6 X 20 FNAJUTRILE 2
H- 4B | K22308321 HyT)o 5T A 1 ALS-055-R-EL
H-5 K03010500 E¥o—7Jaw%s UCP205 2 UCP205
H- 5A | K09103500 M10x 35 KLk 4
H- 5B | K09100300 M10 R T Dy v— 8
H- 5C | K09100200 M10 T v— 4
H- 5D | K09100100 M10 vk 4
H- 5E | K09105500 M10 x 55 7RJLk 4
H- 6 K22303203 PEREX el A 1
H- 6A | K04023501 F—7x7x35 K 2
H- 7 K04062800 F— 1/4%1/4%28 1
H- 8 K22301700 R 7—1JA 1 6 1/2"-A2
H- 8A | K09080890 M8 x 8 FRAt vk 2
H-9 K22301600 AT INT—1) 1 41/2"-A2
H- 9A | K09080890 M8 x 8 FRAt vk 2
H- 10 | K01073700 VAL SA-37 2
H- 11 | K03010600 Eo—Jow%s UCP206 2
H- 11A| K09124000 M12 x 40 KLk 4
H- 11B| K09120300 M12 RV G Dy v — 4
H- 11C| K09120200 M12 Dy — 4
H- 11D| K09104500 M10 x 45 7KLk 4
H- 11E| K09100100 M10 Fwk 4
H- 11F | K09100300 M10 R T Dy v— 4
H- 12 | K22303302 FRS Y Ik 1
H- 12A| K04033201 F—10x8%x32 K 1
H- 12B| K04032801 F—10x8x%x28 K 1
H- 13 | K22301801 h7—UB 1 4"-A2
H- 13A| K09080890 M8 x 8 7RAtwik 2
H- 14 | K22301901 TBREA N T—) 1 77-A2
H- 14A| K09080890 M8 x 8 7RAtwik 2
H- 15 | K01075500 VA Lk SA-55 2
H- 16 | K22307601B RN ILNHA— 1
H- 16A| K09061200 M6 x 12 7R JL 3
H- 16B| K09060300 M6 R Iy — 3
H- 16C| K09060201 M6 T — 16X 1 3
H- 17
H- 18
H- 19 | K21810601 NILARZ 2
H- 19A| K09082000 M8 x 20 AR JL 2
H- 19B| K09080300 M8 R )y v — 2
H- 19C| K09080200 M8 Ty — 2
26 2021.05_A




@D HATSUTA

HDS1 H. BEEIREE %

27 2021.05_A



@ HATSUTA

HDS1
REES| a—F RES M= R ik
H- 20 | K22308402 FoavEEe 1
H- 20A| K09102000 M10x 20 RJLk 2
H- 20B| K09100300 M10 R T D 9 v — 2
H- 20C| K09100200 M10 T v— 2
H- 20D| K08501700 AFvT)Y S-117 1
H- 21 | K02203700 AN71)2% 6203LLU 2
H- 22 | K30606600 FoiavT—1) 1
K22308492 FULavEHE Assy 1 H-20,20D,21,22
H- 23 | K22306101 ToiavT—)E 1
H- 23A| K09120100 M12 Fubk 1
H- 23B| K09120300 M12 RV G Dy v — 1
H- 23C| K09120200 M12 Dy v— 2
H- 23D| K08501700 AFvT)Y S-117 1
H- 24 | K02203700 A71)2% 6203LLU 2
H- 25 | K30606600 FoiavS—l) 1
K22306191 ToiarT—)E{tAssy 1 H-23,23D,24,25
H- 26 | K22306001A T30 7—LB 1
H- 26A| K09081600 M8 X 16 )L+ 2
H- 26B| K09080300 M8 R Iyl v— 2
H- 26C| K09080200 M8 Ty — 2
H- 27 | K30442101A Foav ATy 1
H- 27A| K09083000 M8 x 30 )L+ 1
H- 27B| K09080200 M8 I — 3
H- 27C| K09080100 M8 Fwk 1
H- 27D| K09080300 M8 R Iyl v— 1
H- 28 | K21814200 AT 5|ERILE 1
H- 28A| K09080100 M8 Fwhk 2
H- 28B| K09080200 M8 Ty — 2
H- 28C| K09080300 M8 R Iyl v — 1
H- 29 | K22305901 ToiarT—LA 1
H- 29A| K09082000 M8 x 20 AR JL 1
H- 29B| K09080300 M8 R )y v — 1
H- 29C| K09080204 M8 Twiv— $40x3.2 1
H- 30 | KOB2515DU Jwia K5B2515 2

28

2021.05_A




@D HATSUTA

HDS1 . 74 —Raf%

5 2B
S

23[)230 240 g@@




@ HATSUTA

HDS1
REES| a—F RES M= R ik

- 1 K22313900 N—=F 57w XAYE 2
I- 1A | K09080100 M8 Fwhk 2
I- 1B | K09080200 M8 T r— 6
I- 1C | K21353600 REY 2
I- 2 K22206100 IN—=F T T AR 2
- 3 K22206000 IN—F G T O RNFyb 2
I- 4 | K22204500A N—FFLN— 2
I- 4A | K09080890 M8 x 8 7ROtk 2
-5 K22306302 N—F25TL—Fdhfo ¥ Tk 1
I- 5A | K04012801 *— 5x5x28 B 2
I- 5B | K04016002 F— 5x5x60 WA 1
- 6 K22309400 pS—F> 5 JL—F LY IrZTEE 1
I- 6A | K09103000 M10 X 30 R JLk 2
I- 6B | K09100200 M10 Twiyv— 4
I- 6C | K09100300 M10 R T D 9 v — 2
I- 6D | K09100100 M10 Fwk 2
-7 K22310000 N—=F25 0oy 1
I- 7A | K09080890 M8 x 8 7ROtk 1
-8 | K22308201A F2 Iy vA—I)A( v — 1 12 ~HDS15035

" K22308202 F2 oy yA—I(— 1 H4Z&HDS16001 ~
I- 8A | K31562000 HLEREY 1
I- 8B | K21353600 REY 1
I- 8C | K09083000 M8 x 30 AR JL I+ 1
I- 8D | K09080200 M8 Ty — 3
I- 8E | K09080300 M8 R T Iyl v — 1
I- 8F | K09080100 M8 Fwhk 1
-9 K22300702 R FE B A # 1
I- 9A | K09102000 M10x 20 7RJLk 5
I- 9B | K09100300 M10 R T D 9 v— 5
I- 9C | K09100200 M10 Twiyv— 5
I- 10 | K40513300A FIa—o 01— 1 760 X 855
I- 11 | K22353500 viavd s 1 KN20
I- 11A| K09060200 M6 Iy — 1
I- 11B| K09060300 M6 R Iy — 1
I- 11C| K09060100 M6 F vk 1
I- 12 | K20241000 YARTL—FL/\— 1
I- 12A| K09082000 M8 x 20 AR JL 2
I- 12B| K09080200 M8 Ty — 2
I- 12C| K09080300 M8 R T Iyl v — 2
I- 12D| K09080104 M8 Fwhk 2
I- 13 | K22308001A N—F5TL—FT(v— 1
I- 13A| K31562000 JLEREY 1
I- 13B| K21353600 REY 1
I- 13C| K09060100 M6 Fwk 3
I- 13D
I- 13E| K09060200 M6 Ty — 1
I- 14 | K31561900 HLER 1 NDO0314
I- 15 | K31528200 TN EZ—2R T 1
I- 15A| K09051532 M5 X 15 FRIpARS 1
I- 15B| K09050200 M5 Dy — 2
I- 15C| K09050100 M5 Fk 1
I- 15D| K09050300 M5 R )y — 1
I- 16 | K31566800 TOeILITAv—ItHhEER 1
I- 16A| K09041532 M4 X 15 FRIphARS 1
I- 16B| K09040200 M4 Iy — 2

30 2021.05_A




@D HATSUTA

HDS1 . 74 —Raf%

5 2B
S

23[)230 240 g@@




@) HATSUTA

HDST1
REES a—K RES HE FRAE wE
I- 16C| K09040100 M4 Fwbk 1
I- 16D| K09040641 M4 x 6 FNAIATARILE 1
I-17 | K22353600 L—=51)yT 1 IMAO 0G40
I- 18 | K22311500A EERTavLN— 1
I- 18A| K09082000 M8 x 20 )Lk 1
I- 18B| K09080300 M8 R Iy v— 1
I- 18C| K09080203 M8 TJwiy— 30x%3.2 1
I- 19 | KOB1620DU Jw 1 K5B1620 1
I- 20 | KOB1612DU Jwi 1 K5B1612 1
I- 21 | KOB1008DU T a2 K5B1008 1
I-22 | K22312400 Foiavayk 1 1-22C 22D&L
I- 22A| K09100200 M10 Tviy— 1
I- 22B| K21353600 RE> 1
I- 22C| K09100101 M10 Fv k(%) 1
I- 22D | K09100100 M10 Fvk(E) 1
I- 23 | KO9PHS10R OyRIK PHS-10 1 PHS-10R
I- 23A| K09100100 M10 Fwk 2
I- 23B| K09100300 M10 R T Iy v— 1
I- 23C| K09100200 M10 T p— 2
I- 23D | K09104000 M10 x 40 7RJL+ 1
I- 24 | K31718200 T )L/ N—Assy 1
I- 24A| K09061200 M6 X 12 )Lk 2
I- 24B| K09060300 M6 R Iy o— 2
I- 24C| K09060200 M6 T r— 2
I- 25 | K31516701A THEILILITA Y — 1
I- 26 | K22314900 FE B A et AR —b 1
I- 26A| K09080100 M8 Fwhk 4
I- 26B| K09080300 M8 R Iy r— 4
I- 26C| K09080203 M8 Twir— 30x3.2 4
I- 27 | K22315800 PE BT He R —h 521 1
I- 27A| K09100100 M10 Fwk 2
I- 27B| K09100300 M10 R T Iwv— 2
I- 27C| K09100200 M10 Tviy— 2
I- 28 | K22315900 FEFE B # A R—REERILE 1
I- 28A| K09100100 M10 Fwk 2
I- 28B| K09100300 M10 R T Iwv— 2
I- 28C| K09100200 M10 Tviry— 2
32 2021.05_A




@D HATSUTA

HDS1 J. R&IJLE R

/' 11B 11D
12110 & 13a 15

16D 16E 16C

33 2021.05_A



@D HATSUTA

HDS1
RHEES a—F RES HE R ik
J- 1 K22308100D Iy IL—F T A — 1
J- 1A | K31562000 JLEREY 1
J- 1B | K21353600 RE> 1
J- 1C | K09060100 M6 ;i 1
J- 2 K31561900 ILE R 1 ND0314
J- 2A | K31562000 JLEREY 1
J- 2B | K21353600 RE> 1
J-3 K21807100 R LRIy S— 1
J- 3A | K09081600 M8 X 16 7R JL 2
J- 3B | K09080300 M8 R )y v — 4
J- 3C | K09080200 M8 s — 4
J- 3D | K09080100 M8 ;i 2
J- 3E | K09088000 M8 x 80 7R JL 1
J- 3F | K09082000 M8 x 20 v )Lk 1
J-4 | K22301201A MERTSS=F )0y 1 HF - HDS21011~
J- 4A | K09105000 M10x 50 7RJLk 1
J- 4B | K09100200 M10 Ty — 2
J- 4C | K09100300 M10 R Iy v — 1
J- 4D | K09100100 M10 vk 1
J-5 KO9PHS08L 24 0yhIR PHS-8L 1 HZ& - HDS21011 ~
J- 5A | K09083000 M8 x 30 7R JLk 1
J- 5B | K09080300 M8 R )y v — 1
J- 5C | K09080200 M8 Ty — 1
J-6 | K31524101A rS=F> ) oayk(A) 1
J- 6A | K09080101 M8 Fwb (%) 1
J- 6B | K09080100 M8 ;i 1
J-7 KO9PHS08R 240y+IFPHS-8R 1 % HDS21011~
J- 7A | K09080104 M8 Sk 1
J- 7B | K09080300 M8 R Iyl v— 1
J- 7C | K09080200 M8 T — 1
J-8 K31523500 TORILARE JLHIN— 1
J- 8A | K09061200 M6 X 12 R )L+ 2
J- 8B | K09060300 M6 RV Iy v— 2
J- 8C | K09060200 M6 T — 2
J-9 K31515200 REIJHIN— 1
J- 9A | K09061200 M6 X 12 R )L+ 2
J- 9B | K09060300 M6 RV Iyl v— 2
J- 9C | K09060200 M6 Ty — 2
J- 10 | KRB054010 LR 1 5% 40 X 75L
J- 11 | K31529900 AL7A07RGEEZTREY 1
J- 11A| K09080100 M8 Fwi 1
J- 11B| K09080300 M8 R )y v — 2
J- 11C| K09080200 M8 Ty — 2
J- 11D| K09080104 M8 &Fvhk 1
J- 12 | KoB1020DU w1 K5B1020 1
J- 13 | K31564700 K74 KRV22XLL 1
J- 13A| K09100100 M10 Fvk 1
J- 13B| K09100300 M10 R GIwiv— 1
J- 13C| K09100200 M10 Ty — 2
J- 14 | K31529700 hLZ7+rO07RiAE€E 1
J- 15 | K21814200 AT)75|ERILE 1
J- 15A| K09080100 M8 Fwh 2
J- 15B
J- 15C| K09080200 M8 Tl — 2
J- 16 | K31528301 IR TYY 1 $20%x18x795

34

2021.05_A




@D HATSUTA

HDS1 J. R5ILE R

e
21F 21D o
005~ -
e

16D 16E 16C

35 2021.05_A



@ HATSUTA

HDS1
RHEES a—F RES HE R ik
J- 16A| K09083000 M8 x 30 ARJL 1
J- 16B| K09080201 M8 Twiv— ¢22x2.3 2
J- 16C| K09080100 M8 Fwb 1
J- 16D| K09080200 M8 T — 1
J- 16E | K09080300 M8 R Iyl v — 1
J- 17 | K09BLO8SDR A4 0ykI K BL-8D 1 BL-8D
J- 17A| K09080104 M8 Sk 1
J- 17B| K09080300 M8 R )y v — 1
J- 18 | K21810401 rS=A>1)>onvk(B) 1 420mm
J- 18A| K09080100 M8 Fwh 1
J- 18B| K09080101 M8 Fwb (%) 1
J- 19 | K09BLOSDL 24 0ykITK BL-8DL 1 BL-8D-L
J- 19A| K09080104 M8 Sk 1
J- 19B| K09080300 M8 R Iy v — 1
J- 20 | KoB1812DU w1 K5B1812 2 MB1812DU
J- 21 | K22301301 =AU RS 1 H43& - HDS21011~
J- 21A| K09081600 M8 X 16 7N JL 1
J- 21B| K09080300 M8 R Iy v — 1
J- 21C| K09080203 M8 Twiv— 30x3.2 1
J- 21D| K09105000 M10x 50 7RJLk 2
J- 21E| K09100100 M10 vk 2
J- 21F | K09100300 M10 R GIwi v — 2
J- 21G| K09100200 M10 Ty v — 2
J- 22
J- 22A
J- 22B
J- 22¢C
J- 23
J- 23A
J- 23B
J- 23C
J- 23D
J- 23E
J- 23F
J- 24 | K21805902 TIRILRE )L 1
J- 25 | K31509501 TJL—FR5)L 1
J- 26 | K31508100 1EBHRILE 2
J- 26A| K09100300 M10 R GIwiv— 2
J- 26B| K31504200 WZIvv— 2
J- 26C| K31560410 JYR=wF)L1/8-90° 1
J- 26D| K31560400 GJYR=wTIL1/8-45° 1
J- 27 | K31563600 RE )T L 1

36

2021.05_A




@ HATSUTA

HDS1 K S bR

10A 10D

100" "
s

2021.05_A



@D HATSUTA

HDS1
REES| a—F RES M= R ik

K- 1 K22303102D Ry —1) v hN— 1
K- 1A | K09061200 M6 X 12 R )L+ 5
K- 1B | K09060300 M6 RT) T Iyl v— 5
K- 1C | K09060201 M6 Ty v— p16X 1 5
K- 2
K- 2A
K- 2B
K- 3 K31761200 BF 1 AP-829-3
K- 3A | K09061800 M6 x 18 7R JL 2
K- 3B | K09060200 M6 Ty — 2
K- 3C | K09060300 M6 RV T Iyl v— 2
K- 3D | K09060104 M6 Fvhk 2
K- 4 K22353700 AR—D492/T 3 | IMAO SFK32Bx16
K-5 | K22312100A Ty B—R Ry S—A 1
K- 5A | K09060103 M6 UFvhk 1
K- 5B | K09060201 M6 T v— p16X 1 1
K- 5C | K22315600 Sy BR— A IS—ATARIR 2 | RYIFLY 1mm
K- 6 | K22312200A ayB—Ry/i—B 1
K- 7 K22309701 Ry N\—1) 7 HN\—LIRR(R) 1
K- 7A | K09061200 M6 X 12 7R )L+ 6
K- 7B | K09060300 M6 R T Iyl v — 6
K- 7C | K09060201 M6 Ty v— p16X 1 6
K-8 K22309801L Sy B—T S5 yNE) 1

" K22309801R yB—T S yNA) 1

" K22309802L Sy R—T 54y E) 1 HZEHDS16001 ~

" K22309802R 2y RA—D S5 INR) 1 HZEHDS16001 ~
K- 8A | K09102000 M10x 20 RJLk 4
K- 8B | K09100300 M10 R G)wiv— 4
K- 8C | K09100200 M10 Tyiv— 4
K- 8D | KOB2020DUT Jwi a K5F2020° 7\ {st 2
K- 8E |KOB1515DUT Twia K5F1515Y 7\ {+t 2 HZEHDS16001 ~
K- 9 K31560600 HRAHT )T 1 OGK 0052-50-02
K- 10 | K22300903B Sy B— 1
K- 10A| K09104000 M10 x 40 RJLk 1
K- 10B| K09104500 M10 x 45 7KLk 1
K- 10C| K09100100 M10 Sk 3
K- 10D| K09100300 M10 R T Dy v— 2
K- 10E| K09100200 M10 T v— 3
K- 11 | K22304901A Dy A—N LS Z 1
K- 11A| K09080100 M8 Fwh 4
K- 11B| K09080300 M8 RV Iyl v — 4
K- 12 | K22304702A yB—AN )Lk 1
K- 13 | K22309602 Ry =) 7 H\—AIRR(E) 1
K- 13A| K09061200 M6 X 12 R )L+ 6
K- 13B| K09060300 M6 RV Iyl v— 6
K- 13C| K09060201 M6 T v— p16X 1 6
K- 14

K-14A~C
K- 15 | K22312500 FEZLvya—R Lk 1
K- 16 | K22311700 BT vA—NLMBEEZ R 1
K- 16A| K09080100 M8 Fwb 4
K- 16B| K09080300 M8 R )y v — 4
K- 17 | K31528301 ATV 1 $20x18%795
K- 17A| K09082500 M8 x 25 )L+ 2
K- 17B| K09080200 M8 s — 6
38 2021.05_A




@ HATSUTA

HDS1 K S bR

10A 10D

100" "
s

2021.05_A



@) HATSUTA

HDS1
REES| a—F RES M= bSili ik

K- 17C| K09080100 M8 Fwhk 2

K- 17D| K09080300 M8 R )y v — 2

K- 18 | K22311600 FRyR—HART LRI Z 28 2

K- 18A| K09080100 M8 Fwk 4

K- 18B| K09080300 M8 RV Iyl v — 4

K- 18C| K09080200 M8 Ty — 4

K- 19 | K22311900A FZvvA—EUURAMNEER 1

K- 19A| K09060100 M6 Fvbk 4

K- 19B| K09060300 M6 RV Iyl v— 4

K- 19C| K09060200 M6 Ty — 4

K- 20 | K22353800 ATV HEE (Tryd—) 2

K- 20A| K09051546 M5 X 15 RATUTARZARILE SUS | 16

K- 20B| K09050119 M5 F4/ A2 F vk SUS 16

K- 21 | K22312000A EZ vy — 1

K- 22 | K22314700 FEZyvA—I v INEIEHNS— 2 HZEHDS16001 ~
K- 22A| K09060890 M6 x8 7ROtyk 2 "
K- 23 | K22314600 FEZ v yE— vk 1 "
K- 23A| K04013001 *—5x5%x30 K 1 "
K- 23B| K04013502 F—5x5x%x35 A 1 7
K- 24 | K22314400 B wvA—) 0 A 1 "
K- 24A| K09081090 M8x 10 RO+tvhk 1 "
K- 25 | K22314500 B vvA—1) B 1 "
K- 25A| K09081090 M8 x 10 7rAtvhk 1 "

40 2021.05 A




@D HATSUTA

HDS1 L. REF—F8f%

FRONT

41 2021.05_A



@) HATSUTA

HDS1
RHEES a—F RES HE R ik

L- 1 K22312700 AVRFRHL—IN—EZ IR 1
L- 2 | K22312600A AVRFTRIL—18—R Lk 1
L- 2A | K09080100 M8 Fwb 3
L- 2B | K09080300 M8 R Iy v — 3
L- 2C | K09080200 M8 s — 3
L-3 K22304003 a—k 1
L- 3A | K09080100 M8 Fwb 4
L- 3B | K09080300 M8 R )y v — 4
L- 3C | K09080202 M8 Twiv— $26x2.3 4
L- 4
L-5
L- 6 | K22303902C AEF—TFwi\—H/\— 1
L- 6A | K09061500 M6 X 15 7R JL I+ 6
L- 6B | K09060300 M6 R Iy v — 6
L- 6C | K09060201 M6 Tyl v— P16X1 6
L-7 K22315200 AEFT—HR (EL) 4
L-8 K22315300 AEF—FR (B L) 4
L-9 K22303505L AEF—T1RY (k) 1
L- 10 | K22303505R AEF—T4RY (B) 1
L- 11 | K22315400 AEFT—FIR (ETF) 4
L- 12 | K22315500 AEF—FIR ET) 4
L- 13
L- 13A| K09082000 M8 x 20 R )L+ 16
L- 13B| K09080200 M8 Ty — 32
L- 13C| K09080300 M8 R I v— 16
L- 13D| K09080104 M8 Sk 16
L- 14 | K22302603 AEF—TARY ISP 2
L- 14A| K09082500 M8 x 25 v JL b 8
L- 14B| K09080200 M8 s — 8
L- 14C| K09080300 M8 R )y v — 8
L- 14D
L- 14E
L- 15 | K22302702B AEF—ADE 2
L- 15A| K04023501 *— 7x7x35 B 2
L- 15B
L- 15C| K08503000 AFv )24 S-30 2
L- 15D| K09102000 M10x 20 7KLk 2
L- 15E | K09100300 M10 R G Iwiv— 2
L- 15F | K31504200 WEZDyv— 2
L- 16 | K22304301 AEF—8YIR 1
L- 16A| K09082000 M8 x 20 AR JL 2
L- 16B| K09080300 M8 R )y v — 2
L- 16C| K09080201 M8 T r— 22x23 4
L- 16D| K09080100 M8 Fwh 2
L- 17 | K22303704 AEF—TL—L 1
L- 17A| K09102500 M10x 25 RJLk 4
L- 17B| K09100202 M10 T v— $25%2.3 8
L- 17C| K09100300 M10 R Iwiv— 4
L- 17D| K09100100 M10 Fvk 4
L- 18 | K22303802L AEF—EEIT 4 vE) 1 % ~HDS13007

" K22303803L AEF—EEIT SV MNE) 1 HF& - HDS14001 ~
L- 19 | K22303802R AEF—EEIT S vMR) 1 H43& . ~HDS13007

" K22303803R AEF—EEIT S vMR) 1 HF& - HDS14001 ~
L- 20
L- 20A| K09102500 M10x 25 R)Lk 6

42

2021.05_A




@D HATSUTA

HDS1 L. REF—F8f%

FRONT

43 2021.05_A



@D HATSUTA

HDST1
REES a—k RES = FRAE wE
L- 20B| K09100300 M10 R T Iy v— 6
L- 20C| K09100200 M10 T v— 6
L- 21 | K22353900 A 4L —)L TB354808 2
L- 22 | K22306701B AEF—F—RA—ARTFYLGr—X 2
L- 22A| K09080100 M8 Fwk 4
L- 22B| K09080300 M8 R Iy v— 4
L- 22C| K09080200 M8 T — 4
L- 22D
L- 23 | K02106500 N71)>% 6006LLB 4
L- 24 | K08605500 AFvT) 4 R-55 2
L- 25 | K22351400 AEF—F—45— 2 OMM20
n”
L- 25A| K09082000 M8 X 20 RJL K 4
L- 25B| K09080300 M8 R Iy v— 4
L- 25C| K09080200 M8 T — 4
L- 25D | K04011602 *—5x5%16 ML 2
L- 26 | K22312900A AEF—HAK 1
L- 26A| K09061500 M6 X 15 7RJL 4
L- 26B| K09060300 M6 RV Iy o— 4
L- 26C| K09060201 M6 T r— P16 %1 4
L- 27 | KRB054010 LR 1 5 X 40 x 80L
L- 28 | K22316101A TARIAY LR 2
44 2021.05_A




@) HATSUTA

HDS1 M. Bo#RB &%

45 2021.05_A



@) HATSUTA

HDS1
RHEES a—F RES HME R &%
M- 1 K22307900 BRI AR 1
M- 2 K22307820A pikEE (WIRING-1) 1
M- 3 | K22307820A WIRING-1 1
M- 3A | KOH001010 HS5XEE2L—X 10A 1
M- 4 K31556700 INYT)—R—ZF )L (—) 1
M- 5 K31556600 INYTY—B—ZF )L (+) 1
M- 6 K31556900 mFh/NN— B 1
M- 7 K31556800 EFHN— T 1
M-8 K22309320 INYT)a—K (=) 1 450mm INYT )=~
M-9 | K22309300 NyTYIA—=F ) 1 1100mm NyTY—~+)L
M- 10 | K22308500 FAII—S—h iR 1
M- 11 | K31724320 AAVFHKF T 1
M- 12 | K31724330 AAITF IR 1
M- 13 | K21808600B AAYFAssy 1 AEF—RAYF
M- 14 | K31562799 F—RAYFAssy 1 & ~HDS21010
M- 14A| K31562799A F—R A yFAssy 1 HZ& - HDS21011~
M- 15 | K22354000 CAlJL— ACA2213 1 RHESC-20(EH#S525) DB EIZFE
M- 16 | K22314000 BHFER/N—FRR 1 RHESC-29(BHF#S525) DIBAIZFE
M- 17 | K22309330 INYT)a—K (=) 1 250mm I~y
M- 18
M- 18A| K09081600 M8 X 16 7R JL 5
M- 18B| K09080300 M8 R )y — 5
M- 18C| K09080200 M8 s — 5
M- 19 | K21653000 T ) A—R— 1 |Honeywell 82320-57| #4%& :HDS17016~
" K21653001 T ) A—R— 1 SYS-3 12 - HDS20003 ~
M- 20 | K22509700A T I A—E—WtE 1
M- 21 | K22510700A T I A—E2—F iR 1

46

2021.05_A




@D HATSUTA

HDST

A DANGER GASOLINE
ZOREHFRITLAIBA. ONLY

REHAN=DHNTULET, F
RENN—LEECT. A BB EEmH
ELAVLTLESY,

AWARNING

If you can read this sign,a
guard has been removed.
Do not operate without
guard.

1

Qe

KMB100114

>20°

77—

6

A WARNING

If you can read this
sign,a guard has been
removed.

Do not operate without
guard.

NOTICE

Lower the throttle if turning the
spinner switch on/off.

Be sure, while the spinner “ON"
RPM : 3250 rpm

REF =24 v FDON/OFF i&, 74 F
UV T TIT>TLEEY,

Z2eF—HEER, T¥YYEERS
3250rpm THBHZ L ERRLTLEE L,

ZORBHFRIA TV
A, REWN—DHANT
WET,
RENN—ZEH LT
FEELBEVTLEED, 14

ON  ENGINERPM
oFf  3250rm

i

min" /B ¥ &

@ HATSUTA

TOPDRESSING VOLUME CHART i EH&%®

21

7z

| HATSUTA

e top dressing volume depend on sand condition. I
SEYVBHREEDY ET

22

@ HATSUTA H:[I @ @ ﬂ TOPDRESSER H:H @ @ ﬂ |

~TOPDRESSER _ d ' T p——

HATSUTA
24

23

47 2021.05_A



@) HATSUTA

HDS1
REES| a—F RES M= bSili ik
N- 1 KM810012A PLY—)L No.12 1 RENIN—
N- 2 KM810013A PLS—JL No.13 1 NRERE
N- 3 KM810014A PLY—)L No.14 1 AU
N- 4 KM810006A PLZ—)L No.6 1
N- 5 KM810021A PLY—)L No.21 1
N- 6 KM810017A PLY—L No.17 1 Y I)5—
N- 7 KM810018A PLY—)L No.18 2
N- 8 KM810020A PLS—)L No.20 1
N-9 KM810019A PLY—)L No.19 1
N- 10 | KM810023A PL—/L No.23 1 REHIN—
N- 11 | KM810025A PLS—)JL No.25 1 N—%25
N- 12 | KM810026A PLS—/L No.26 1 aAUARFAR)LE
N- 13 | K22382100 SR JL AEF— ON/OFF 1
N- 14 | K22382200A | SX)L AE+— ON/OFF ZAKRYLS | 1
N- 15 | KM810024A PLS—)L No.24 1 Z2Ovk)L
N- 16 | K22382300 IR ey —E Y 1
N- 17 | K22382400 SR AEF—EERFRE % 1
N- 18 | KM810027A PL—/L No.27 1 By
N- 19 | K22382600 X)L HDSTEFEIR&A!) A 1
N- 20 | K22382500 N BHERRR 1
N- 21 | K22388000 BEY<—% HDS17Rw/s— A& 1
N- 22 | K22388100 BEY<—% HDS1Rw/S\— & 1
N- 23 | K22388200 BEY<—% HDS17Rw/S\— B 1
N- 24 | K32895100 BRY<—5 /A 1
N- 25 | K22388300 BEY<—% HDS1w/8s— % 1
48 2021.05_A




[O) ¥ Bkt

T555-0013 KRThFEE/IIXFFf1-5-58 B 06-6472-3857 FAX 06-6471-6336
T121-0836 EHEPEIXALR2-19-4-401 B 03-3897-8095 FAX 03-3897-8097



	表紙
	目次
	A.フロント関係
	B.後輪関係
	C.油圧関係 1
	D.油圧関係 2
	E.エンジン関係
	F.コンベアー関係
	G.ホッパー関係
	H.駆動関係
	I.ワイヤー関係
	J.ペダル関係
	K.シャッター関係
	L.スピナー関係
	M.配線関係
	N.ステッカー



